Kwik Cricket Tournaments - Scoresheet

Team: Final score:
First pair Second pair
1 over 2 over 1 over 2 over
Runs: Whkis: Runs: Whkts: Runs: Wkis: Runs: Wiis:
End of aver total: End of over total: End of over total: £nd of over tetal:
Third pair Fourth pair
1 over 2 over 1 over 2 over
Runs; Wkis: Runs: Wkis: Runs: Wkis: Runs: Wkis:
End of over total: £nd of over total: End of over total: £nd of over total:
Team: Final score:
First pair Second pair
1 over 2 over 1 over 2 over
Runs: Whkts: Runs: Whkts: Runs: Wkis: Runs: Wkts:
End of over total: End of over total: End of over total: End of over total:
Third pair Fourth pair
1 aver 2 over 1 gver 2 over
Runs: Whkts: Runs: Wkts: Runs: Wkts: Runs: Wkts:

End of over total:

End of over total:

End of over total:

End of over total:

Don’t forget:

Batting team starts with 200 runs

Runs added to total

5 runs deducted if batter is out
Give extra ball for wide or no ball in final over

Example of a 2 over spell (minus 5 runs per wicket}

1 over

no run

4 runs

wicket falls

wide, no extra run (2+0=2)
no run

1run

7 runs, 1 wicket

200+ 7=207-5=202

2 over

wicket falls

1 run

2 runs from a no ball (2+2=4}
one run

3 runs

no run

9 runs, 1 wicket

202 +9 = 211 -5 = 206

Method of scoring on sheet:

. = no run, no wicket
W = wicket
1/2/3 = runs scored
O =no ball, number of runs written inside
1F = wide, dots represent runs taken
First pair
1 over 2 over
’ ¢ W 2w 1 @
+ . / i 3
Runs: 7 Wkts: 7 | Runs: 9 Wkis: 7

End of over total: 202

End of over totat: 206




